Sally found six Easter eqggs.
Sam found seven. Who has
more?

Ten bunnies are sitting in the

sun. Four hop away. How
many are left?

What 2D shape looks like an
egqg?

There are 180 animals on the farm.
Half of the animals are chickens
and 30 are sheep. How many
rabbits are on the farm?

The Easter egg hunt starts at 15:00.

It is now noon. How long is it until
the egg hunt starts?

There are 12 eggs in a crate. James
has bought 9 crates of eggs. How
many eggs did he buy?

CLASSROOM 3

© Classroom Secrets Limited 2017

Nina ate 4 chocolate eqgs and had
8 left. How many chocolates did
she have at the start?

There are 20 chicks in the hen
house. One quarter are yellow.
How many chicks are yellow?

There are three sheep on the farm.
Each sheep has had two lambs.
How many lambs are there?

Jana’s Easter basket weighs 780g.
Tim’s Easter basket weighs 0.79kg.
Which basket is heavier?

Charlie has 40 packs of mini eggs.
He has 1440 mini eggs in total.

How many are in each pack?

The Easter bunny hid 100 eggs.
25% were blue, and 45% were
yellow. The rest were green. How
many green eggs did he hide?
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Word Problems — Easter

Each hen has laid four eggs. There
are eight hens. How many eggs
have been laid?

The Easter bunny hid 186 eqggs.
Danny found half of them. How
many eggs did he find?

Janet counted 68 tulips in her
garden. She has three times as
many daisies. How many daisies
does she have?

For every 6 tulips in Kate’s garden,
there are 7 daisies. There are 18
tulips. How many daisies are there?

The Easter bunny hops 505.4m in a
minute. How many kilometres does he
travel in half an hour?

The school bought 4707 chocolate
eggs. There are 523 students in
school. How many eggs does each
student get?

Like this? Find more differentiated
Easter Resources here.


http://www.classroomsecrets.co.uk/tag/easter

Sally found six Easter eqggs.
Sam found seven. Who has
more? Sam

Ten bunnies are sitting in the

sun. Four hop away. How
many are left? Six

What 2D shape looks like an
egg? Oval

There are 180 animals on the farm.
Half of the animals are chickens
and 30 are sheep. How many
rabbits are on the farm? 60

The Easter egg hunt starts at 15:00.

It is now noon. How long is it until
the egg hunt starts? 3 hours

There are 12 eggs in a crate. James
has bought 9 crates of eggs. How
many eggs did he buy? 108
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Nina ate 4 chocolate eqgs and had
8 left. How many chocolates did
she have at the start? 12

There are 20 chicks in the hen
house. One quarter are yellow.
How many chicks are yellow? 5

There are three sheep on the farm.
Each sheep has had two lambs.
How many lambs are there? 6

Jana’s Easter basket weighs 780g.
Tim’s Easter basket weighs 0.79kg.
Which basket is heavier? Tim's

Charlie has 40 packs of mini eggs.
He has 1440 mini eggs in total.

How many are in each pack? 36

The Easter bunny hid 100 eggs.
25% were blue, and 45% were
yellow. The rest were green. How
many green eggs did he hide? 30
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Word Problems — Easter

Each hen has laid four eggs. There
are eight hens. How many eggs
have been laid? 32

The Easter bunny hid 186 eqggs.
Danny found half of them. How
many eggs did he find? 93

Janet counted 68 tulips in her
garden. She has three times as
many daisies. How many daisies

does she have? 204

For every 6 tulips in Kate’s garden,
there are 7 daisies. There are 18

tulips. How many daisies are there?
21

The Easter bunny hops 505.4m in a
minute. How many kilometres does he
travel in half an hour? 15.162km

The school bought 4707 chocolate
eggs. There are 523 students in
school. How many eggs does each
student get? 9

Like this? Find more differentiated
Easter Resources here.


http://www.classroomsecrets.co.uk/tag/easter
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